Section-11

BIOLOGY

1.  Durmg Prophase-] of meosis-I, crossmg over takoes place betwesn:
{a) Some homelogous pairs only.
(b} moa-pister chromatids of some bomologous chrompsomes oaly.
{£) non-zigter chromatids of axch homologous pair.
(d) Al of thesa

1=

In hiendelim experments, oo F) mdnadual produces gametes m theratioof 1:1:1: 1. Thas 18 because:
{a) 1t 15 2 debybnd (b) of mdependent s5ortment
(i) it 45 defrylorid test cross ratie (dibothaamd b

3. A pene located a V-chromosome and hence transmitbed from fathver o som 15 Jovow a5

{a) Operstor gene (b} Supressor pene
(&) Halmndrie pena () Sex-linked recessive pens

4. A person shows blood pressirs of 16000, He is suffermg from:
{2) Hypotension () Mo tension
{c) Hypertensson (d) Astenosclerosis

4. Omeof the followmg 15 used 35 3 green mamure. [denhiy &
(&) Fhizchiam radicicela (b) Crotalaria junces
() Bacdlus polymyxa  (d) Planis with root nodulbes only.

6. Thetoypes of gametes produced by 2 single hetsrorygous yellow round pea plant may be -
(DY Yo, B v MYE, vE @YEYr (@bere
1. One of the followmg is not 3 mam made miergenen: hybod -
(&) Raphanobrassica  (b) Pomato
() Secale cereale (d) Triticale
8 Geses are-
{a) segments of chromosomes
() made of DINA segments and associated histoae protens
{2} specific polyauclectide sequences m DINA
() all of these

% Producer gas differs from bao gas becaase -
(&) it s peoscheced thaough microbial scton
(b it costming carbon monoxde
(€)1t do=s mat bism with smokelass flame
(d) it es produced m fermenter tank

10, Agncalture 15 conssdered 3 pronery mdustry m Inde becquse -
{a) It acoounts for neardy 2/ 5% of the Gross Naticaal Product
(b It empoys mapority of working population
(£ It gives primary education m ststmg an @dasiry
(d) All doe thres.

11, Sems pars of codoas and amtcodons ane gren a5 follows -
(EAUG-UAC by GGU -CCU
() CAG - GUC () AUL - TUAA

12. Pomi out the statement which = sot spplicable to the pesticidas
{2) many pesticides sre nod EEget $peciie
(b) some pesticides are poasonous
(<) pesticdes polbute scal, water and air
(d) pesticides minimi i Toss i aaricdl

13, The sex orgams se totally absemt bat seoxal reproduction takes place o -
{a) Fhadephyoess (k) Bassdiomyoetes
() Chlorophyesas () Imperfect fung:

14, A pes plant with the genetype Fr Y'Y TT o83
{2 trkybnd (b dahybnd
() momahybed (d) smgle hetetozygous dommant

15, Which of the following are not nanzrally synthesized i human body?
{a) proteins (b)) enzymes
() vitming () all che thres

15, How masy types of nitrogen contammg bases e found m 2 suceotide 0sf DNAT
(a2 k)4 (€)3 1

17. DAP 15 a form of -
(2) kagh energy contammg compound wsed m cell metabolism.
(b} baomass wsed for producton of Eicenengy
() amisnal sneggy
(d) orgasmic wases of mamal orign
18) The flower m Hibascizs (Chma rose) 15 -

(a) hypogynous {b) meaaddphous
(&) epipetalous () all of these

1%, Fragmenttion is a bype of -
(2) sexual reproduction (b)) asexual reproduction
(c) clonal propagation  (d) vegetative cultivation

20. In serobe rasperation, total sunsher of ATF formed without invelveg ETS comes to -
[DEATP (B4 ATP () 2ATP (&) 8 ATP
2. Ablsles avs the -
(2) e genes om the homalogous chromosomes
(b) two forms of the same geoe
(c) two genes present on the same locus of 3 homologous chromosomes
() two homologows chromosomes with identical pese loc
22. The bybrid, improved Mesican wheat varieties developsd by Noman Boraug wer -
(2) dwarf
() succaptible 1o deeasss
(c) with bagh quality bt poor yield
(&) worth high yield but poor quality and reststance to diseases
23, Cyeas shows -
(a) heterospory () heterophryily
(c) betercpametophyies () all of these

24, COs iz mot released during -
(1) ssdobis respiration (b} amsarobs: fasparation
(£) dleobale: famentabon (d) Lacte sod fermentsthon

25, (1) Multiplication () Propagation () Perpetuation
All of these represent =
&) reavenason (&) reproduction
() replication (d) fecreation

26, Whach oae of the followemg it not mexhastible respuree?
(@)smhght (b)udadpower  (chooad  (d) ramfall

27, Two DNA strands are
(a) paraild and complementary
{h}ml_ipuﬂldndmm;ﬂ.nm

 @img (Mg {€) bactesia (&) virus

29, Replication of DNA, new strand has
(a) one paretal and coe old strand
(b} both mew stramds
() both old strands
id) one parental and ome new strand

30, r-BEMA g called nbosomal BNA becaise
i) 1t &5 bocated = nbosome {b) ssothesmed m nbosome
() destroy m nibosome {d) formed m ribosome

3l DNA fragment of gene library are made up of -
{a) dead plants (&) dead animals
(e) tiving bacteria (d) dead bacteria

32, What 18 sceentifie nasne of Haly basd?
(2) Aloe vera (k) Adathoda ussica
(c) Oscimum sanctum  (d) Azaderachts mdica

33, InmAloevera........ active prmcipal present

34, Rhizobnan fxes Ny m legumes dus to
i) hasmoglobm (&) leghaemoglobm
i) globulin (d) hematoglotdn
35, Tramspération is relaied to which of the following
(2) wilting of leaves (b} ahpat fermanan
(c) owermyg mduction [d) bud formation
36, In Hill resction, Hill used ... to prove the presence of oxygen.
() ferree cymnde (b} ferrac salt
(<) hasmoglobm (d) leghsemoglobulm

37, Photolysis of water requires
(a) light and water () light and chloropinyll

(e) tight and CO, (d) 0 and Hy O
38, In plant diermyg photosyethesis PGA s raduced by -
(z) NAD (k) FAD
(c) NADFH: (d) FADH:
39, With H.D aad chlerophdl, the most essential raw matensl for photosynthesss 1
(a) C0- (B30
(c) H:5 () GO

40. Druring ghycolysis 3 PGAL is phospherylated into 1,3 - diPGA by wing
(1) phosphoric acid  (b) ATP

iz} ADP (d) AMP

41 Pyruvic aod 8 formed afier the glyoolysds contems . carbon atoms.
(a) 4 (k)6 fe) 3 (d2

42, From following ....... 1% the commen fesparatary substrate.
(2) amino acid (b ghacose () protem () a8

43. The double fertlrmation mecludes fusion of one male pamsts with femssle pamete and mnother male panete with -
(2) secondary pucless (b) egg cell

() mucelbas (d) stipodal cell
44, The female gametophyie 15 represented by -

{a) mucellus (b} egg cell

() embayo sae (d) astipodal cals
45, The micropyle of anaropous ovale is cdoses to

{2 hhums () chalazs

() fumicle (d) style



